What is the total charge for this distribution?
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p(r) = ) (1 +Kk)q&(r - ka)
k=0
A. q
B.20
C.40
D.6¢
E. Something else




ANNOUNCEMENTS

e Asrequested, Homework 2 grading rubric posted
e Exam 1is coming up! October 4th (More details next
week!)



A Gaussian surface which is not a sphere has a single charge
(q) inside it, not at the center. There are more charges

outside. What can we say about total electric flux through
this surface 955 E - dA?

A. ltis g/eg.
B. We know what it is, butitis NOT g/ey.
C. Need more info/details to figure it out.



An electric dipole (+¢g and — g, small
distance d apart) sits centered in a
Gaussian sphere.

What can you say about the flux of E qo _C()]
through the sphere, and |E| on the
sphere?

lux =0, E=0 everywhere on sphere surface

ux =0, E need not be zero everywhere on sphere
ux is not zero, E =0 everywhere on sphere

ux is not zero, E need not be zero...
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